ALKALI CORTENT OF THE FRIE AND USED SOLUTICH

1. Short description of the nethod

The 1iquor can be titrated with & stendardised or non~standardised
gcid, Tirst to the end point of phenolphthaieine and then Turther

to the end point of methyl orange.

2. Remarks

For the determination of nydroxide in the presence of carbonate or
bicarbonate, use is made of the different sensisity of phenol-
phthaleirs and methyl orange toO carbonic acid. The total content
of the hydroxide (NaOH” +-HClr—; NaCl + ﬁEOJ and half the content
of cerbonate (Na,CO5 + HCL — TaHCO5 + #ecl) end the sulphide is
detected by the first titration with phenolphtbaiaine, the second
half of the carbonate or sulphide 1is determined by the secund

titration with methyl orange (Haﬁco3 + HC1 --~» Nall + CO, + H20)1.

The strength of the acid used and the amount of 1iquor sample used

in the determination i¢ immaberial, since it ia only the raiic of
the two values which is needed, 1.e. a measured cuantity of ligquor

. 9 e
or a standardised acid need not bhe used. T
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s, Solutions

a) Phenolphthaleine solution: 0,1 g phenelphthaleine is dissolved
in fooc mb 96 % ethanol. :

: fb) Methyl orange golution: 0,1 g methyl orange js dissolved in

]

too ml wvater. o

!
]

1 N : ;
) As well as the hydrogen carbonate in theory. However, hydrogen car-

bonate is not present, since in alkalis carbonic acid can only

exist as carbonate and not as hydrogen carbonate. /.
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- Calculations:

RS1
RS2
RS2
RS4
RS5
RS6
co1
caz

Co3 =
Co4 =
cos =

total alcali (NaOH + Na_S + Na?uD ) as g NaOH per liter
active alcali (NaOH + N3_S) as“g NaOH per liter
effective alcali (NaOH +°1/2 Nazo) as g NeOH per liter
concentration of NaOH in g/1

concentration of Na_ S in g/l

concentration of Na_CO, in g/l

molecular mass of NaCH (40 g/mol)

concentration of tiErating agent (1 mol/1)

factor (2)

molecular mass of 1/2 Na_S (39 g/mol)

molecular mass of 1/2 Na2003 (53 g/mol)
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